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PART A — PHYSICS

The length and width of a rectangular plate
are measured to be (1530 + 0-05) em and
(12-80 + 0-05) cm, respectively, The area of
the plate and the approximate uncertainty

in the calculated area are (in em?)

(1} 195-84 & 1-4%
(2) 1958 + 0-7%
(3) 1860 + 0.7%

(4) 196-0 + 0-07%

Which of the following is the correct conclusion
from the given displacement — time graph for
a particle ?

— t
(1) It represents accelerated motion
(2) It represents retarded motion

(3) Finally the particle moves with =a
constant speed

(4) Finally the particle moves with a
constant acceleration

1.

AT A — wifaw fage

UF ATAHER wie & T vd e mwer
(15-30 + 0-05) cm WA (12-80 + 0-05) cm AT
W ¥ | W @ Avwe s e fau ™
&% ¥ arfaframar (em® T) wmw &

(1) 19584 + 1-4%

(2) 1958 + 0-7%

(3) 196-0 + 0-7%

(4) 196:0 + 0-07%

T A % fau femd sk e % oem oo
¥ fefafas § ¥ sl-m fsd o & )

__+t

(1) @2 &l 7fg Tofar &
(2) %7 FgHfeq g worar &
(3) 3w S0 UF e =9 § e ot @

(4) 3f=Ta: &0 O fegw =y | iy o 2
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Mass m; = 1-5 kg is moving to the right
with speed 4-0 m/s. Mass m, = 2-0 kg
attached with a light spring is moving to the
left with speed 25 m/s. They move on a
frictionless horizontal surface and collide,
The spring constant is 600 N/m. What is the
compression in the spring at the instant
when m, is at rest after collision ?

1) 024 m
2y 020 m
i3) 060 m

4) 016 m

In the figure shown below block A {mass m,)
iz pulled on a frictionless surface by a force F
50 that blocks A and B (mass mg) move
together. If the coefficient of friction between
A and B is p, the correct value of F so that A
and B move together is

B

West A
A AV AV A S T AT

F

5 [East

(1) m, pg
(2) mppg

(3) (my + mp) pg

(4) (M] g
My + mp

4'

My

ity

Oi—  ~—o
R¥HME m, = 15 kg 9 40 m/s ¥ TE Hit
M wE R | TE e FAA S e 5
m, = 2:0 kg I 26 m/s § a4 HRX N w0
213 v o dfas Te W g W gue
aa%rﬁlmﬁrﬁudaasmrwmétaamz
ooz & a2 fm smen § 2, 39w wun
¥ dftes 7= & 2

1) 024 m
(2) 0-20m
(3) 050 m
(4) 0156 m

A i foE H wAE A (FREE my) B oA
F 30 7% $vdS T% W 39 TR G o 8
fF =% A T B (FHHF my) & ©F @™
nfeeiter € 1 9fE ATd B & dtw v s p g,
T ATH B & S A9 nfie g9 & fow P
ud T #

B
ey A % ef
A T T R S i s e
(1) my ug
(2) mg pg

(3) (my + mp) pg

mamp

o (2am)
my +my
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A bullet of mass 5 gm travelling at 40 metres
per second passes through a wooden block of
thickness 3 cm and comes out with a velocity
of 20 metres per second. If the resistance
offered by the wooden block is uniform, what
thickness of it would be just sufficient to
stop the bullet ?

(1) 5em
(2) 4cm
(3) 6 cm
(4) Bem
A bicyele wheel of radius R rolls down an
inclined plane of height h. If its initial
angular speed on top of the plane is @ and

there is no slipping, the angular speed at the
bottom of the plane is (take the mass of the

5.
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40 dieT 5 §FvE F T F TRl 5 gm
mﬁﬁ‘ﬂ?ﬁﬁcmméﬁm
% we ¥ T & ok W W 20 e o
0T ¥ AT ¥ A TrEedt € ) 3R om 3
T FT0 T T Wi UEEEE 8, m el
F a9 T W & for smavas der 21 @
=ifgu ?

(1} & cm
(2} 4 cm

(3) 6 ecm

(4) 8cm

= R % us uisfee &1 ofgn 396 b § @
A a ¥ A Fewr # 1 AR a9 & o
mmmw%%aﬁzaﬁéﬁm@
wE 2, 7@ a9 & Aeh W Fniy 9 # (o 3

wheel to be concentrated on the periphery) SENH & 391 Uy W Hefad 59 )
2gh
1) s
(W ﬂ—zéh + 0, W JZr *+
4gh
2
2) ‘.I‘lIf;l s (2) \ g2 + Wy
h oY
1) f[g_ 32 |
(3 “[;—2 + mfj { Y\ R? Vi J
h
(4] ||g_ +
(4) \;—f:; + W, \Rr? o
M/Page 4 SPACE FOR ROUGH WORK / T & & fr wmg

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

Four identical bodies of mass m each are
placed at the corners of a square of side ‘a’,
They move in circular orhits about the
centre of the square under the gravitational
force of each other. The speed v of each body
18

(1} ’m

V a
(2) Gm '

V1++2)a

(3)

\JGm (4+J2)
4a

) (Gm (2 ++/2)
2a

A container has some amount of ice at 0°C.
The container is slowly heated and after
some time the ice is fully converted into
steam at 100°C. Which one of the following
graphs represents the process gualitatively ?
In each graph X represents heat supplied
and Y vrepresents lemperature of the
material in the container.

x
(1) :
X

T ‘e’ % T & F B W EHEH m A 9
wAE e w E | A e ¥ e
T & s o F &% W 9w em § nf
FA B | FAF aw W oA 0 R

fl}m
(1) —_—
YV a
|'7-1_
@) e

V1+v2)a

(3) w}Gm (4 ++/2)
4

d

}Gmczﬂﬁn

(4)
Y 2a

F TH O 0°C W gw ah F ouEr w # |
ﬁrtﬂ%—%ﬂiﬂﬁmﬁmﬁaﬁlﬁwwﬁ
=% quidT 100°C # 919 ¥ uftafda & 9t 2 |
Frefafad =% & & Si-9 s S e
w7 § gyrar & ?

yorF % A X & 7 e at qufa & sk y
o § ugrd & arE & o

%
(1) :-"
X

¥ Y
{(2) i“ (2) .J_"
x X
be. Y
(3) ,-_-’ (3) i ‘
X —*X
Y p'¢
(4) _I (4) |__I
> X .Y
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9.  The figure shows a water tank. The area of |9 fag '

_ : : TH G & 3 F g z
cross-sections of the tank at points A, B, C Eﬁ' D e 3 Eﬁr g é | ﬁ:& A B,
and D are 0-7 m?, 2 em?, 1-5 em? and 2 em? 2‘4? : o i
re:ipectivelg,n Find the velocity of water at 07 m®, 2 em® 15 em? W 2em?E | 57 A
point D at the time when the height of q o & %9 100 em &, f’ﬂﬁ DRy
water is 100 cm above the bottom., :

(g = 10 m/sec?) AT | (g = 10 misec?)
x o . T = e ot b
i Ee |
| i SESSSSoONY
B U S
Y E ok (1) 5 ms
(2) 4-83 mfs (2) 4-83 mfs
o (3) 447 m/s
(4) 493 m/s i4) 493 m/s
10. Two identically shaped bodies A and B of [10. T4TW 3&R ¥ & fi A wd B, fve zom
masses my and mp and specific heats S, m, T§ my aﬂ'l' fafsre sy 8, @ Sg g
and Sy, are heated to 90°C and. then allowed 90°C TP T T Feh 3T 814 foam W ¢
to cool. Their cooling curves, temperature (8) 32 ﬁ & wHy © YA (8) %; THT (1) C
vs, time (t) are shown. Then the most o% fag § fomm Lty g | ga faet & fome
correct statement about the bodies is TE T % ‘
b 0
I A 1 A
|
B S B \\E ~
0 ’ 3
ho—n 0 " t—>
(1) My < Mg (11 my < Mg
(8) my Sy > mp Sy (3) m, S, > mg Sp
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1. Hydrogen {v = 2. ;] is used in a|ll. A TF ¥ gFweeE (1, .. N .

Cy

Carnot cycle as working substance. During
adiabatic expansion the volume of the gas
increases by a factor of 32. The efficiency of
this Carnot engine is

(1) 0-0002
(2) 025
(3) 075
(4) 0-9998

12. A thermally insulated massless vessel 12,

containing n moles of a gas with molar
weight M is moving with uniform speed v,
The vessel is stopped suddenly. If the entire
kinetic energy of the vessel goes into
heating of the gas, the increase in the

C
temperature of the gas is [’5" = Eﬂ]
LY

T | 9y -1)
(1) anL =

5 5)
FEE Ted & v F M femw ower @
mﬁmm%ﬁwﬁammmwm
1 3 A S A oo @

(1) 00002
(2} 025
(3] 075

(4) 09998

ﬁmwmwﬁmﬁaaﬁnﬁhﬁﬁrﬁm
FEH FENAAEET A TR W o &
et § | 7 S IS I W @ |
e e F1 gl wfew = iy w5 o 5§
T W, T W % awm § afg @

i

P
y =2
regt
) %HML-EW—];I}

1 g ¥
{2} p— IleE % E2.}' 2 nMu E
1 2 Y
(3) ; M ? % &) M= '
o [ — 1 2 {y -1
(4) % M v? ["—hﬂ @ - Mv" =
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13. A particle is executing simple harmonic |18, THh 0T | WEd T wT W R | om0 =

motion. The maximum speed of the particle Ao el v @ | A T s w5 o
is v . The speed of the particle at the instant §, @9 TH U &0 & A @
when displacement is half of the amplitude
- Yo
is (1} 9
u
(1} -3
2 (@) v,3
2) v,V3
o
; (3 L
v !
(3) =& 4
! 4
\'Iré l1'_
ety @ v,

14. Air columns in two open pipes of length L 14, I E\ﬁ ¥ % A T fr

are vibrating simultaneously in fundamental T e o Eﬁﬁ% | afe e TET £
mode. If the length of one of the pipes is & w A @ W, sy T
reduced by v, then the number of beats Sreq=i S d@r antt, afg waft & an "
heard per second will be, if the velocity of ysels
sound isv and y << L,
Yu
; 1) =
(1) 21"—112 912
¥
2 =
Iy 3 2
& & Ny
2 a2
Gy 2 iy B
yu yu
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Two positive charges are fixed on the x-axis
at points (+ a). A small charge q is placed at
the origin and displaced slightly in the
y-direction and released. Then

(1) if g is positive, it will perform simple
harmonic motion

(2) if q is negative, it will perform simple
harmonic motion

(3} if q is negative, it will move farther
away from the origin

4) if q is positive, it will move towards
the origin and stop there

The cross-sectional area of the plates of a
parallel plate air capacitor is A and the
distance between the plates is d. If V is the
potential difference between the plates, the
energy per unit volume of the capacitor will
be

(L) € E;'T—z
(2) g -I—z

(3) 5 & ::
(4) % E, i;'ﬁ

where € is the electric permittivity,

15, %37 & fgal (ca) W & s @y @

186.

Eﬁ?|w-ﬁaqwmmﬁwqwm
%ﬁ%&y-ﬁ?ﬂﬁ%ﬂﬁ@ﬁﬁ%ﬂm
¢ 3 B e 91 § ) 79

(1) A q WIS 8, 79 48 we smad
(2) AR q =EE 2, T 9% WA e Ay
T

@) AR q T 8, T 9 g § it
7L BlaT =@l S

(4) A q wE R, T 9 qE-fag A e
A FW ik =9 T o

UF A 9fzw oAy dufe & ufeesi o
STE-afee 8FE AR ofit ufgwei ¥ T
g d & | AR sl F A" fawmw v
T G & 9 g T we A

(3)

4]

el ¢ ferpaie 8 |

M/Page 9

SPACE FOR ROUGH WORK / 1% &1 & fae sme

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

Blie DR % bl hi/HHOM HDNOY HO4 30VdS ol eBed/|n
gr st () Mgt (B
g gt (8 z: gt (8
et - g (@) g er @
g'g (D z:g (1)
2 bihble B lnlidh % st qutod wowrwos ayl e I,

b blbbth khde loble .1, kb I lolbth ®
3 biblrR llanh 2h Bk aikjohe | 2 LIS g
B LK k& bk M k.0, kE | 2 Bbbis
d-gh Db ke ) 2 Dl B Mek RS
Selphbs B B T, kb Dbk [HR hhpe
v )
2T (8
1:% (2
I1:T (1)
2 (P ((HM binbie
2 felbok] ke | 2 D15 Dl dh |gh IRB Mo
Bl M @ Db Ihbk f ki bibedk blibien
bl ,°H kR H % le® lbjle blkbben

Dg_ﬂ'-[“?r‘ﬁ (I’.'.l

04 0T % 68 (8)

0,01 %6 (@)

0 401 x 6T (1)

2 Liblie th EYlkp

A9T=% ‘AgT="" ©BG="H

ve="u Wg=D ‘k khih hie 1Y 3k

i

b | 1} g
[m- P

B F—AAA——e— | L

61

‘81

' L)Q;\}\hloaded Froh

Juu 03 anp jey] 0] play JrpuIeul JUB)NSAI
8y} Jo spmjufew Jo omel oy §, Suu
ut Surmopy jey) aomy €1 [, Sull Ur JuUaLInd
ay, Jeuylo yowa o safdue jydiur je sauepd
ey yim  Apednjusoucd peseyd eae ‘g,
pue [, sduwx Suidired JuUaLInd [EIHUSPL OAY],

3

(%)
(€)
(@)
L1 (D

S1 (@H)M : ((H)M UPEI 3 JO O1jed 8],
‘uotfax ay} apisul syjed JE[MIID Ul [DARI)
PUE Pa1j 2USLUl ULIOJIUN JO uoldal e Jajus
A81aua onjauny SwWeEs jo suol Ay pue H

[
7
I

£y e

()
()
(2)
(1

0 40T % 96
0 0T * 62
0 §-0T * €
0 40T x 6T

aq [m 10ymedes oY) us adieyd ayqf,

A9T=%" ‘Agt="a ve="4
‘e =Ty Al g = O ‘oI9y WAAIE MDD 3y U]

61

iﬂ'[




Downloaded From : http://www.cbseportal.com

20. E:imj.dil of the coil of an electromagnet are [20. T fag-yow ot Tveedt ¥ A & 220 v
L.‘Ll.{! to 220V, S50Hz mains. An I & ’
aluminium ring is suspended near one of B0 s STET S @ 1 U g9 % wdy
the poles. U U @ ae wewEr WA §
Statement-1:  The ring will be repelled, FEIT-1 ;. FerE w8 o
Siatement-2 .  According to Lenz's law e S
induced e.m.f. is such that it 2: W & = AR, aft
:r?a?]f::ic f;;:; change in fod-a%% a9 59 wan ¢ 5 @w
- T o § yigdy &1 gfy
(1) Statement-1 is true, Statement-2 is F B |
false,
(2) Statement-1 is false, Statement-2 is (1) ¥F9=-1 972 8, Toy+-2 3757 & |
true. :
(3) Statement-1 is true, Statement-2 is ) T %? il
true; Statement-2 is nof the correct (3) ¥HYA-1 U9 €, YHI-2 99 2, yEgE-2
explanation for Statement-1. HEHIH-1 3 TE ST T8 F 2 r
(4) Statement-1 is true, Statement-2 is YT .
true; Statement-2 iz the correct i * ;Tt,ﬂ;g' S %; o
explanation for Statement-1. = g
21. A transformer steps down 200V to 20 V to ;
s o - . le. TS TIHWET 200 V # 20 V e S E
erat: a avice Wi an ]i'ﬂpE ance o
i@t % 200 Q sfoamn &l ©w 9% Wil
200 €. Then the current drawn from the
W OFE | T TSR F waE g A
mains by the primary of the transformer R T S ¢
is
(1) 001 A
(1) 001 A !
_ (2) 002A
2y 002 A
(3 01 A
(3) 01A
_ (4] 02 A
4) 02 A
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d34.  Electrons are ¢jected from a clean metal by |34, Eﬁl’%‘r—ﬁ:l’gﬂ e ¥ At & AR UF e
making use of the principles of photoelectric g - | ﬁﬁﬁg‘l"—r frepfaa g & 1 o v Famer
effeet. The condition that must be satisfied g B =i, 8
i3

(1) urg I f=1 a9 W @ =
(1) the metal should be at a low ;
Lemperature | (2] H@ ﬁ 9 a9 W E‘;!':'T 4 EE
(2) the metal should be at a high (3) 9 & WA W He T A e &
temperature TS S, fsmfaa semia & 1fas et
(3) the kinetic energy of photons striking % _ gl e
the surface must be equal to that of th o
: i e et (4) 9 & 998 W 9T 4 F9 BRE &
ejected electrons > .
s wal, Fewifm gemet 1 fae 3=t
(4) the kinetic energy of photons striking T AN FHe fEEd e g T A9
the surface must be equal to that of the ¥, ¥ e & T A arfgw
ejected electrons plus the binding
energy with which the electron is held
by the metal
i 85. Fret winfe W fram i
35. Consider the following species ; CN-, NO*, 0; 7w Dg_
CN-, NO*, 07 and 03
_ , W HEE w1 FE-5 e uE SE e s
The pair of these species having identical aen & 7
bond order is )
e (1) CN~ 79 Oy
(1) CN~ and 05 ,
.-
" 2) NO* @4 O
(2) NO* and O2 ) .
L]
3) CN~ @41 NO*
(3) CN~ and NO* e
- L
(4) CN~ and 03" OB el g
M/Page 17 SPACE FOR ROUGH WORK / T% T4 & T s
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52. The structure 52, =1 "=
”-‘i“\\ /H Hac\ /H
H,C o < Hac/ \"c/
I COOH | \GDOH
CH, CH,
ahows E}THT é
Geometri i e
E;: {}u;meltrlmu’] Is;:lrrmcrlsm 1)
(3) (}Zonc;aetrisczr!nz:rg tical Isomerism (2
o s , 3 (3) “OHEE 3T T aREEET
(4) Tautomerism
(4) <crEgad
53. Uﬂmplg:le the reaction : 53. S qﬁ_Tﬁ_ afer .
4
CH, - C— CH = CH, 4+ HBr Peroxide ? THa = ?
.5 # " (Preduet) CH,-C - CH = CH,, + HBr AR -
CH, i (Im)
CH,
Product 1s
CH, 3Te @
I
@) CHy - ¢~ CH - OH, Tt
| | .
CH, Br (1) cH, - 1I: - [llH — CH,4
CH; Br
CH,
| CH,
(2 Br - CH; - C = CH, - CH, |
[ (2 Br - CH, - © - CH; - CH,
CH, |
CH,
‘fHS CH,
I
(3) CHS-(i}-(fH—GHa ®) CH, - C - CH - CH,
[ |
br Sk Br CH,,
CH, CH,
| |
(4) CHE—?-—GHE—GHE-EI' (4) CHy - C - CHy — CH, - Br
|
CH, CHy
M/Page 23 SPACE FOR ROUGH WORK / 7% &4 & Tog -7
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57. Which one of the following is an example of |57, T=feiiad § & #9-9 ©F AgagaweAT =
copolymerization 7 EECU- B
(1} Polystyrene (1) el
(2} Polythene (2) TiEndE
i3) Bakelite (3) m
(4} Natural RBubber (4) Wﬁﬁ: @
58, The enzyme which hydrolyses triglycerides 58. IEAETREE Fr O 3T 3 Femee # A
Lo Matty acid and glycerol, is T s T -
(1) IPPepsin (1) s
{2) DMaltaze (2) s
W i (3) SR
4) Li
{ ipase 4) n
69, gl}:iommyc:ti?,l iknuwr;fecﬂ alsn_ thas - AR, < Fet e ¥ T @ & 9
oramphenicol, iz e ve in e o &, B B R # T80
treatment of
(1) (AIDS)
(1) AIDS d R
o (2) WA
(2) Malaria e,
(3) Tuberculosis (3} 9
(4) Typhoid @) EEeE
! ; = T
60. Which of the following pairs of radicals gives |80 Ferad & ¥ E‘ﬁqm%w T; -
vellow precipitate with a mixture of e U= A HNO,4 e
ammonium molybdate and cone. HNO, 7 ST AR 2
i 3
(1) Ccu®, BO; (1) Ccu®*, BO;
g 1
2) As?, POZ” (2) As?*, POj
o 2_
3) Cal*, Cy02 (3) CaZ*, C0%
(4) Cr*, NO3 (4) Cr**, NOg
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G4, Consider the systems of linear equations : |64, o7 igs Tl & e W faw g
M dx — Gy 4+ 22 =4 A 4x -6y +2z=4
2x -4y +Bz=3 2x -4y + 8z=3
~6x+2y+4z2=-5 -6x+2y+4dz=_5
and G|
B: 2x-3y+z=2 B: 2x -3y 4+2=2
X-2y+dz=4 x=2y+4z=4
~-3X+y+22=-3 —3dx+y+2z=-3
Then ar
(1) A has no unique solution and B has a 3
unique salution ) & 23}3 ST S A %ﬁﬂT 5 S
Bl
(2) Both A and B have unique solutions
(3) A has a unique solution and B has no (2) A7 B F ToA 7w @
N (3) AW USHH B9 & 741 B 5 HAT 5 T
(4} Both A and B have no unique solution 7
65. Given A and B are two 3 x 3 matrices. (4) AT B & oFAN T F
Statement-1 : AB-BAisa
skew-symmetric matrix,
when both A and B are 65. Aﬁmgﬁqwzﬁ3x‘33ﬂa§§|
symmetric. ) .
Statement-2 : AB-BAisa FA-L: W AT B Wi e g,
skew-symmetric matrix, 4 AB-BA U faws-gHi
when both A and B are R & |
skew-symmetric. :
g FYA-2: W@ A q4 B oH fawe-gmim
(1) Statement-1 is true, Statement-2 is =R g @ AB-BA T
true; Statement-2 is a correct femm-omfim sr=mz &
explanation for Statement-1. -
2) Statement-1 is t Statement-2 i O W Gt B, e R
Lk itatement-1 is true, atement-2 is
true; Statement-2 is nof a correct -1 91w €|
explanation for Statement-1. @) F49-1 T & Eﬁﬂ.:f-z o & -2
(3) Stalement-1 is true, Statement-2 is F9-1 F T e @/ E
false, :
(3) %9419 &, H9-2 99 & |
(4) Statement-1 is false, Statement-2 is .
true. (4) FIH-1 3EH g, FII-2 T & |
M/Page 27 SPACE FOR ROUGH WORK / T% &4 & fam wrg
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T The volume and radius of the base of a right |73. % ?ﬁ?ﬁ'ﬂﬂ TFf AN P L | | .'{H% HYE T
circulur cone are decreasing at a uniform = 39
et of 2 em™fs und 1 cm/fs, respectively, THYA I é A ™ ; ﬁrﬁfﬁﬁ bl
while |te height is increasing at a uniform A "é ol HE @ %, wHfe T ﬁ'l'{f
rute of 3 em/s, When the radius of its base is 8 A8 : T H 3 ? | S m
4em, e helght (in em) will be e F fromn 2 94 %x 7 T I (T )
gt
(n n 4l (1 2n +1
n n
@ 2t (2) ol
n 4
, G + 4 6n +3
i :
2r {dJ 2n
; Gm -3 6 — 3
)y —— ————
{ - (4) o
74. AR y = yix) IEHH TR
74. If y = y(x) is the solution of the differential dy o 3
2 = = ————= y(0)=-1% & &,
l.'!lll.ll:'ll.il:l“ ﬂ ~ 3_:-2;'4—2;;'2 | }p(ﬂj = _1’ dx 2{}7 == 1:' ¥ "
}l’ —
then y(1) is equal to W ) e
@ 2 W 4
]
4) -4 (4) -4
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|
2 I PO E 1 :
it x) 1( xJ in x° (x > 0), then the area |77. 3 2 fix) — f(x—J =inx% (x>0 g @ fle®),
of the region, in sq. units, bounded by fie®) st 5
Lher nxis of x and the lines x=1, x=2 is AR iy x=2 9 Ao
| CERNCURCo s
in 2
(1) 2
(2) f
2 1
2) -
2
[
(3 1
(4) ;
1
(4) -
2
78. Statement-1: If cos® x = sin 2x,
x#(2n + 1) %, T8. HE9-] ; 4% cos® x = sin 2x,
1 is un integer, then x2(2n + 1) E,
. 1 2
sin 2x + cos 2x = =,
5 n TF o g, &t
Statement-2 ;. sin 2x + cos 2x = gin % + cog Ox = 1 ﬂ |
2 - (tan x - 1)2 5
5 )
1+tan®x FHF-2 sin 2x + cos 2x =
2
(1) Btatement-1 is true, Statement-2 is el xz— AT
brue; Statement-2  is  a  correct 1+tan®x
oxplanation for Statement.1.
o | () -1 §9 §, F99-2 ¥9 & w49-g,
@nl-1 is true, Statement-2 is FIT
: -1 F1 T8 = 2 |
true; Statement-2 is mot a correct Fﬂ ¢
explanation for Statement-1. (2) F49-1 TG 8, T2 TW & Y92
() Btatement-1 is true, Statement-2 is gLt 'qﬁ' 4
falue, (3) FIH-19 &, HIT-2 FTA & |
(4) Ststement-1 is false, Statement-2 is (4) FIT-13TF 2. g2 99 2 |
Lru, ' ‘ .
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87 The equation of the common tangent line to

e clirves y =
th x4y 4 =
(2) dx -y 4 =
() %xrdy 1 4<=0
) dx + y+4=0

i1y 3
2y 4
13) 5
4) &

(1) 3
2) 4
(3) 5
4) 6 -

Fewiw 1, 1) 7o (5, _p) #
Bx—dy +2=0 WA T ey 3 v &

87. ﬁfy:xzﬂmxy=]ﬂﬂ3ﬂ'qﬁ%mf%@m
and xy =1 4s HofgToy #
(1) x - dy — 4 =0
(2) 4x v —4=0
3) x+4vy+4-9
4) dx s y+4=90
88. I the eo-ordinates of the extremities of g z :
. Bi n_

diameter of a circle are (-1, 1) and (5, -7), < Hlfq ‘Hnﬁ i X o B I

then the length of the chord intercepted by

the circle on the line 3x - dy + 2 =0 is

E

g9 EA ET

B9.  All possible values of ¢ so that the two lines |89 ¢ @ @l duifem ", faas faw & T

Xx—y=2and ex + y = 3 intersect in the first
quadrant, lie in the interval

(1) (—i,—;—

(2) [=8§, 1)

@) (-1.

90. Lt the lines y + x = 0 and y = 3x intersect
the line x = 3 at A and B respectively, If the
bisector of the ubtuse angle between the
first two lines meets the third line at C,
then C divides AB in the ratio

() N8
@ 1:43
(3 1: 4
(4) V2 :

3
g

1
1} -2
(1} [ " ZJ

(2) -3, 1

o (43

:
4) -l, 1}
2

4 dieal &, 9% B
(1) 2 :43

(2) 1:

3]

]

(3) 1:+
(4) 2 :46

XK—y=2 {9 X +y =3, Wgq
SR 4l R, Frer sime 3 &

=gty

90. WW}'+K=OW ¥ =3x, (8 x =3 &
A A 7Y B W HfTeag w6 § 1 At weed o
ﬁ'@aﬁﬁaa‘lﬂ%mmﬂmﬁmﬁﬂfr
T # ¢ R e 3, & C, AB 3 fr s
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